§ @ @ Calcular porcentagem de decimais

Nome: Encontro: Data: Pontuagdo:
7,53 x40% = 5,49 x 80% =
4,89 x 60% = 3,59 x 50% =
9,78 x 90% = 2,28 x 80% =
5,92 x 80% = 2,7 x80% =
9,93 x 70% = 6, 15 x 90% =
2,6%90% = 9,63 x 30% =
2,48 x 30% = 9,16 x 20% =
4,44 x 30% = 5,59 x30% =
4,25 %x20% = 6, 62 x 40% =
7,35 x 80% = 3,09 x 50% =
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§ HR®L

Calcular porcentagem de decimais

Nome:

7,53 x40% = 3.012

4,89 x 60% = 2.934

9,78 x 90% = 8.802

5,92 x 80% = 4.736

9,93 x70% = 6.951

2,6 x90% = 2.34

2,48 x30% = 0.744

4,44 x 30% = 1.332

4,25 x20% = 0.85

7,35 x 80% = 5.88

Encontro: Data:

5,49 x 80% = 4.392

3,59 x50% = 1.795

2,28 x 80% = 1.824

2,7x80% =2.16

6, 15 x90% = 5.535

9,63 x 30% = 2.889

9,16 x20% = 1.832

5,59 x30% = 1.677

6, 62 x 40% = 2.648

3,09 x 50% = 1.545
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Pontuacao:
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